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Suppose a satellite is
located in space at point
S. In this view of Earth in
the plane of the equator,
the angle between the
lines of sight at S is 50°.
The radius of the Earth is
3,963 miles.

Equator

What is the distance from S to the horizontal along the
| 5"[? L 7 equator, that is, the length of a tangent from S to the
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How high is the satellite S above Earth’s surface, that is, the
length of a segment S to the closest point on Earth’s
surface along the equator?
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Chords, Arcs, and Central Angles
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Relationships between Chords

Congruent Chords
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Given the figure at the right.

Estimate the midpoint M on
segment AB and label that point.

Draw a line through O and M so that OM L1 AB.

What Three things happen?
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Suppose that a given circle has a radius of 6 inches.

What is the length of a chord that has
a central angle of 115°7?
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What is the measure of the arc of a

chord that is 8 inches long? What is
the perpendicular distance from the
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